HS SR, ¥, . el gd dIforey Agliaenera g4 (8.)
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9. . 91T — D

favg — fa=d1 W
T dF Ee quiies : 75
de el geEl & SR AR
TBIS —1
90 1(37) Ueetdd W 3T FAT TS 8° U R [ARIRS & oIl BT Ieoid DI | 8
rerar
JrgaTe fhd PEd 2° 318 IAJdrs &l faRvan] Jarsy |
@) 3T FHEHI BT AR AU Teai # fIRay | 7
rerar
g &1 aRA fraor falay |
TBIE —2
g0 2.(31) fFe=ferRad vl & gg wu foikay | 4
(1) sFae (2) srguEa  (3) Brfae  (a) eiemr
rerar

)

o araat o1 gg IV | @18 9R)

1. YRR =9 HRAT 1Ry |

2. Afecd 3R S &1 9 dee 2 |

3. I% JGavS Bl Foll Hell |

4. TR BT < LT JTART BT

fr=feriad # | f8l IR ey &1 31 for@ax a9 918y |

3 B ADS! 1 & &I S S FGRIAT a1 fohem
arerar

1. ImaTd &1 fadm v fofag |

2. P SR M & d—al gl Tes oy |

3. 319 3R o = B FFY 31 faRay |

4. S $YGR BT 7 A=Al B |

IR &1 O gfg & forg ofa 3 57 o Sures! &1 Suan fear 872

arerar
BT P SYAT TG A FT B T3 87
3PS —3
90 3(®) <aArRI frfy @1 faeedd gAY |
arerar

(@) WIARM S U TATHS A1 2 | §9 PAT D AER UR AP AR 30 &l 3 Ry |

Jergur forgd awg = 9rdi &1 ea= =T a1fev |

—4

U0 4(c). GAT U] & TcShl BT aui B |

rerar
HRYeR H f2l & YANT WR JUAT =R ghe DI |

(@) SMR®T B WM f[AddT< UH 315 d < Tl Hed o?

(@)

AT

WM fad@T < 3 FRR & AR B S U3 foal 9T IR e 100 &l # forfay |

$PlE —5
90 5(&) HI-d AT fhd wEd g7 AFS 99T & fIRydy 9arsy |
arerar
HM® MR MG H R foIRay |
AMHEIRTE TTfreierar R org forRau |
Freqar

AR AT B Tfrefierar gRad=i &1 e R8T 2 | 39 uRads H #eudia &l &If3a i1 |



SETH R. C. S. ARTS & COMMERCE COLLEGE
MODEL EXAMINATION 2021-22

B.Com. — I (English Language)

Time — 3 Hours MM -75
Note:  Attempt all questions. All questions carry equal marks. .
UNIT -1

@ Do as Directed (Any 20) 20
(A) Supply ‘a’, ‘an’, ‘some’ or ‘the’ where necessary

1. Please give me milk.

2. Chair is made of wood.

3. Fish swims in water.

4. T like music very much.
(B) Put the verbs into present perfect continuous form.

1. She (watch) the TV all evening.

2. Mother (cook) all the morning but the meal is not yet ready.

3. He (live) in this town since 1964
© Put the verbs in brackets into Past Indefinite tense:

1. Raina speaks slowly.

2. I'meet him on Monday.
(D) Add “Some” or “any” as required.

1. I’velost my pencil. Have you ............. to lend me?

2. Thereisn’t............. milk in the pot.
(E) Rewrite the following sentences using too or enough.

1. Tam............. tired to walk.

2. Heworks............. hard.
(F) Supply if, even if, unless or otherwise in the give sentences:

1. He will come you write to him.

2. Don’t watch the film on TV this evening you have a weak heart.
(G) Fill in the blanks with model auxiliaries.

1. It’sraining | take my raincoat. (compulsion)

2. You leave the office early today. (Permission)

3. He has sent the message that he be late (Possibility)
(H) Rewrite the following in reported speech.

1. His neighbor said “you have an excellent cook”

2. He said, “where is he going™?
@ Combine the sentences into one.

1. He raised his hand.

He asked the people to be quite.
2. The act was performed.
Gandhi withdrew from the scene.

Q) Change the voice.

1. Some is following us.

2. Open the door.
X Insert the preposition in the blanks where necessary.

1. They paid me the piano.

2. Sitting the floor is not very comfortable.
L) Fill in the blanks with Self-form or Possessive.

1. Tcut with the razor this morning.

2. Have we to do it all by ?
dn Match the words given in columns ‘A’ with their meaning in column ‘B’



A B

1. Revolution right to vote
2. Innovation a complete and forcible overthrow of an establish government.
3. Suffrage introduce something new.
4. Recognize accept.
5. Conscious very great
6. Incalculable fully aware
7. Fallibility liable to
8. Degenerate violent condemnation
9. Vituperation incapable of existing together in harmony
10. Incompatible decline.
UNIT-1I
Q2 Read the following passage and answers the following questions given. 5

Discipline is the law of life. It is also the law of the universe. Thus moon, sun, the stars the season all are subjected to
unchanging laws. These laws or rules are physical; similarly there are moral laws to guide us. Any violation a physical
laws bring disaster to the world. Likewise any violation of moral laws ruin a man’s life. Discipline regulates our actions
and keeps us within the bonds of civilized norms. It is like a brake unchecked freedom generally takes you down to the
wrong road. Discipline develops strength, unity and character in our life.

Questions:
1. What is Discipline?
2.  What violation of physical law bring?
3. What is the result of violation of moral law?
4. How does discipline help in our life?
1. How does discipline act as a brake?
UNIT - 111
Q3.  Write a paragraph in about 200 words on any of the following. 10
(1) The Hindu Trinity (2) Life mirrored in Vedic Literature
(3) Importance of Tree (4) Indian art and Human form.
UNIT -1V
Q4.  Write Any two of the following Letters. 15

(a) Write a letter to your mother asking her to send some money for buying books.
Or
Write a letter to your friend congratulating him on his brilliant success in the examination.

(b) Write an application to the Registrar of your University asking him for an early declaration of result.
Or
Write an application to the principal of your college requesting him for fee concession..

UNIT -V

Q5. Answer the following questions (Any Five) 15

What are the two qualities of mind presented in the poem?

How are the figures of men and women depicted in Indian art?
Which Indians influenced Europe and America most?

Mention five Vedangas?

Which defined animals got honourable mention in the Ramayana?
Define regionalism.

What happened in 18577

What are the two most important aspects of Indian Constitution?
Where did Ghalib’s wife send her jewels and valuables?

= 00N U AW~

0. What happens when the trees get dry?
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g9y I Ee Ul : 75

e 9 U U B SRk <INT | TP Shls A T U3 BT I 2

Attempt all the five questions. One question from each unit is compulsory.

Unit — 1 (318 — 1)
s YoTell | T Aad 57 3N YoTrel! &1 Jre faRivamy forey |

What do you understand by Economics System? Write main features of Economics System.
Or (312rdn)
JJARIT B AR TN BT FHAEN B YOl §RT fhd UBR fBar Sirar 2?2 e i |

How are the fundamental problems of an economy solved by the price system? Explain.
Unit — 2 (SFTE — 2)
IS UM & IATET B IMAR® 3R 98g g9dl R U& Afera femoh forfeay |

Briefly explain the internal and external saving of large scale production.
Or (37eran)

U @ TR W AT @RI FHed 82 YA @ AR ufiwd SRImell d e Sifoi |
What do you understand by ‘Returns to Scale’? Explain the different types of returns to scale.

Unit — 3 (&1 — 3)
IR & GRS RTY | S99 faff=1 JdRi &1 goiF HIfTY |

Define Market and explain various types of Market.
Or (312rdn)
TP HH & G U AT T GASI & 7 BH B Ager DI IMaId Il bl 918y |

What do you understand by Equilibrium of Firm? Explain the required condition of Equilibrium.
Unit — 4 (SH1E — 4)
JEHR & o1ef Ya faRivarell &1 T HIRIY | I8 TEeR 4 f&d yer e 8 ?

Explain the meaning and characters of Oligopoly. How does it differ from Monopoly?
Or (37eran)
TR G a1 2?2 $¥e! faRya] ad1sd | I8 i ufadifir | fd ger = 27
What is monopolistic competition? Give its features. How does it differ from perfect competition?
Unit - 5 (§&T5 — 5)
faa=or & AWid SeHar RGld @ TS AR B |

Critically examine the marginal productivity theory of Distribution.

Or (37erdn)

Rarst & o= Rigid & =T Hifoi |
Explain the Ricardian theory of Rent.
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e

90 1.

Jo 2.

4o 3.

4o 4.

U0 5.

Y Ui gl B SR SIiY | IS U B OFHE AP B

Attempt all the five questions. All question carry equal marks.

Unit — 1 &8 — 1)
TGS YATERYT H T dedd 8 ? ARG DI UHhid Td A8 Bl W PIFIY |

What do you understand by Business Environment? Explain the importance and nature of Business
Environment.

Or (3reran)
Faq v fAFE 9 w1 a8 ? IR o faeraeliel 9w & Wed # gud ud fafnT @1 vafcadl o
== ST |

What is meant by Saving and Investment? Discuss the trends of Saving and Investment with special reference to
a developing economy like India?

Unit — 2 &5 — 2)

FATRR AT BT AT WL HIOTY | AHI AfFaRel] R gHDBI FIT J4Td ISl & 7
Clarify the meaning of Parallel Economy. What are the impacts of it on general economy?

Or (3reran)
TR ol F8d 8 ? IRd § arwifa & Rfq &1 fademr iforg |
What is Inflation? Describe the position of Inflation in India?

Unit — 3 (&1 — 3)

fofiaRoT 1 3y g |Hera 8?7 favg srefegaxen # fAofiaror @ ey R U dferd org forlRaw |
What do you understand by Privatization? Write a short note on Privatization wave in World Economy?

Or (3reran)
T BT FT A T ? [ BROT B ARAT BRI [ IR TR B I B J&T BT FTHeAT HIAT
ST SERIAT ST AHT © |
What is meant by Devaluation? Discuss the reasons which justify devaluation of currency in a country.

Unit — 4 &5 — 4)
anfdfer GuRi & uRuey § YR IR gRT fFA1fad &1 18 gee Aol @ | 7 faaemr a1 |

Examine the policy of Govt. in India regarding Foreign Capital and Collaboration?
Or (3reran)
JAAE U AT & Sgaedl UG U fIRoamell & aren Hifvg |

Explain the objective and main features of current Five Year Plan.
Unit — 5 (3&1g — 5)
fIeg 9% & Igawdl W UBHN Sy iR e BIRTY 6 I9a! Uifid # a8 oel a6 % & |

Throw light on the objectives of World Bank and explain how far it has been successful in achieving those
adjectives?

Or (3rer@n)
JIRTER ATaATfd TafaReT | 41 dread 27 ffl srdfasfia <o @ onfdfe faerd w iRy e
BT FIT YA TSl 87 Yoiey A FHSSY |
What do you understand by International Business Environment? Explain clearly the impact of International
Trade on economic development of an underdeveloped country?
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R BTG I ) quries : 75

A 9l U™ 9Tl @ SR SINIU | D $hls I U U HRAT A B |

Attempt all the five questions. One question from each unit is compulsory.

Unit — 1 (5@ — 1)
1(A) oA fafe g1 &1 HISTY (Solve by method by comparison) 7
3X+Y=13
3y -X= 9
(B) faao= fafyr gR1 81 SIRTT (Solve by elimination method)
15X +3Y =139
12X +9Y =51 8
Or (372r@)
31fdrpaH &1 | Maximize. 15
7Z=20X;+30X;
Such that STafd
3X; +3X, >36
5X; +2X, < 50
2X; +6X; < 60
AT and X1,X2>0
Unit — 2 &5 — 2)
2) afe If 15
2 0 -1
A=|2 3 -2 gl
0 -2 5
ST BT Find A*+2 A - 71
Or (3feran)
(A) ¥ &1l Evaluate: T
.0001324
.0321 x.001342
(B)  IfE (if) log 2 =0.3010 log 3 = 0.4771 T log 5 = 0.6990 7
A S I Find log 1 25/24
Unit — 3 (S&18 — 3)

3. STERT 1, 1998 T T HH =1 10,000 0 H U 99 & oIy Ta FHfcd &1 Ucel WRIAT | IS og O arfie
el # U® 9¥ & I # I B JAT TSl Pl &% 5: AP &I Al af¥a] BT JeI A1d By | 15

A firm has required a leasehold property at Rs.10,000 on January 1, 1998. If the price is to be paid in
three annual instalments payable at the end of each year and the rate of interest is 5% per annum,
calculate the annuity.

Or (3feran)

(A) T8 II qarsy OTIH 550 F0 4% a1 ARIRYT TS &I &% H 605 W0 & SIRIAT | 5
Find the time in which Rs.550 will amount to Rs.605 at 4% per annum simple interest.

(B) T fodl &9 R 2 961 § 4% af¥d & R A IHJhg A 102 WO & I S &R F 2 9 Bl

ATEROT FTST T I 2




4(A)

(B)

(A)

(B)

(A)

(B)

(A)

(B)

If the compound interest for 2 years at the rate of 4% of some money is Rs.102, then find the simple

interest on the same rate for 2 years. 10
Unit — 4 (SB1E — 4)

A TIT B & AIRAEG Al BT AU 4 : 5 &, SAD F & U 7 : 9 T IR IAD! Faai &l

U 4 : 3 8| AT Bl Fad 350 WO BN A YD DI 31T qAT3A] | 7Y%

Monthly incomes of A and B are in the ratio of 4 : 5, their expenses are in the ratio of 7 : 9 and their
savings are in the ratio of 4 : 3. If the total saving is Rs.350, find the individual monthly income.

Ife 20 AT B B fBHAT 9T BI 45 &9 H B AP © A 9 25 a7 H PR & foQ fhas
ETHAT BT TaRIHAT BRI |
If 20 men can do a piece of work in 45 days, how many men will be required to do it in 25 days.

Or (greran)
M B U W B g 50: 3 UTT FRA & | IHDT 50 3 el TAT 98 50 b H Bl B AT T
AeHTH 3P A |
Ram has to secure 50% marks to pass. He gets 50 marks and fails by 50 marks. Find the maximum
marks. 7%
TEH AR -1 30 SLdT §T 2580%0 & ST o W TNIG | I I A8 & 15 SLAL I 3540 W0
& ST oI R WIS | 99 1AL Al BT Ad oI S oo |
A dealer purchased 30 television sets at an average price of Rs.2580. He purchased the same type 15
sets more at an average price of Rs.3540. Calculate the average price of all sets.

Unit — 5 (TS — 5)

500 w0 AIRTEH Id9 & IIIRTT 4,000 T | G & ARG [AHT W 5% HHLE &1 & F R &l
e faar gaa far mar 2| afe 9@ 9IS o 725 w0 B Al @ @) S BINTY | 7 %
Hari is appointed as a salesman on a monthly salary of Rs.500. If the turnover exceed Rs.4,000 per
month, he will get a commission of 5% along with the salary. If he gets Rs.725 in all in a month
calculate the turnover for that month.

T I A ofdR 150 W0 H 99 T GIRNl © | AT 98 I 135 W0 ¥ I SRl Al Ugel fofa=n o
BT o1, IAD! 50% BIF BRI AT a%] BT oI q13] | 7Y%
An article is sold for Rs.150 at a gain. Had it been sold for Rs.135, there would have been a loss equal
to 50% of the original gain. Find the cost price of the article.

Or (3reran)
Al g2 B dF BHD X 20%, 10% TAT 5% & dI 9 Bl Yhdl &R S DI | 5
If the successive discounts are 20%, 10% and 5%, find the single equivalent discount rate.
FrferRad uRRaes TR BT YA oRTd e | 8 & | 10
Solve the following transporting problem with ‘Least Cost Method’.
@ (Destination) D, D, D; Dy gfct
(Supply)
JTH (Origin)
O, 10 8 11 7 20
0)) 9 12 14 6 40
Os 8 9 12 10 35
AN (Demand) 16 18 31 30 95




US 3R, Wl TH. Hell Ud 10Ty JeIfdenerd g3 (8.7)

ST U8l — 2021—22

§l. dME. — 1
AT S HUYUT (Business Communication)
/g A S quiieh : 75
dc W@ UE Ul & SR QINTY | URE gdls W U IR el Jffard § | 91 Ul @ 3fd §EH B |
Attempt all the five question. One question from each unit is compulsory. All question carry equal
marks.
Unit — 1 (SHT5 — 1)
g 1. Ufgfie &1 sref 9ard gU 9@ UfBAT U9 HEd Bl FHSISY |
What do you mean by Feedback? Explain its process and importance.
Or (3reran)
Wic fagelvor ¥ oMy a1 |AsK § 2 Wic favetvor o fafd qem 7@ &1 faa=mr iy |
What do you understand by SWOT analysis? Describe its method and importance.
Unit — 2 (SFTE — 2)
U3 2. Afed URDEl I 37U 9T FHS © ° SHD AaRID d<dl bl fade S |
What do you understand by Group Discussion? Mention its elements or ingredients.
Or (37eran)
STAUTT | 319 7 |WHSTd € 7 S1aUdl & SQQvdl 9 Ml Bl qarsy | eI TRy § gHa] el
qargq |
What do you mean by Listening? Explain the objectives and advantages of listening. Explain its need to
business communication.
Unit — 3 (S&T5 — 3)
U3 3. eIl U= | 7 M § ? 34 UF & R IGe¥ B © 2 YA Bl forad w9 fha—fhe aral a1 e
# @ ARy |
What is meant by Complaints Letters? What are objectives of these letters? What points should be kept in mind
while writing these Letters?
Or (37eran)
ARSI F T AU € ? 9D Hed U AT qaq1gy |
What do you mean by Business Letter? Explain its importance and phase of a business letter.
Unit — 4 (3PS — 4)
3T 4. YRIAIHRUT B SJGEROT T © 2 TKABRYT DI GATAT B dTel BRI bl A |
What is the concept of Presentation? Describe the factors affecting the Presentation?
Or (37eran)
Td yTaRITell fides & fafi=t ==ol &1 quie #Ifeig |
Describe the various steps of effective reporting.
Unit — 5 (SHTE — 5)
U3 5. 3MYfIeh ATaAIAS FUYI H b1 AEAT BT IUANT AT ST R8T € ? 99 I dlel o™i &l 918y |

What forms of communication are being used in the modern business world? Explain their advantages?
Or (37eran)

RIRS AT &7 7 372 & ? ANING AT & UHRI & Ao DI ARAT DI |
What is meant by Body Language? Explain the types and importance of Body Language.




HS AR, 9. TE. el (9 a1forsy Feifderned g (8.)
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. B — 1
Financial A/C

|G A S quiies : 75

e 9l e gl & SR AT | U”e U P HM 3D o |
Attempt all the five questions. All question carry equal marks.

Unit — 1 & — 1)

9 1.(37) 9ard & f=feiRad w8 daue @ fow et 9 forg SIRiT 2

(a)

@)

gofl, e, RSd %os, g &9, JMER0, 3UT F 0T, &I, A6 e ¥, ey fau=, gdaad 991 |
State in which side of Trial Balance, the following items will appear?

Capital, Sales, Reserve Fund, Outstanding expenses, Drawings, Bad debts, Goodwill, Cash in hand, Bills
Receivable, Prepaid Insurance.

FrferRad &1 o ST

(a) 0 1,800 AT e BT AT U &I fJa] o7 TR 10% A o o7 |

(b) U 7 ¥ Y AT BT 1,/5 90H HR AT |

(c) g A fEare o) fear iR 1% &g FEki Ut &R ofl |

(d) ST SUART & forg ATt foram | aFTa {ed w0 5,000, f9%T 7@ w0 5,500

(e) ATl TR B TA—ARTT Hed w0 10,000, fIFT T w0 11,000

(f) TP 8D DI WO 20,000 BT A & &7 AR IAY 7% [dPI PR a_YaTT |

(g) FUR & WHT BT fAfhear & [0 20,000, IHG JF H AT Yob ®O 2,000 JR BT B
o w0 10,000 3T |

(h) F0 6,000 ARTA BT AT AGH<Iell Bl =1, doid Jod AN A 10% 3Af&IH TR 7R iR IF W 5%
RS Heldl < |

(i) BREXT B 0 7,000 BT ATA IUH fHAT AR TP daal § U4 Bfee Ale ura fhan |

Journalise the following:

(a) Goods costing Rs. 1,800 sold to Pappu after adding 10% profit on sale.

(b) Pappu returned 1/5" of the goods sold.

(c) Pappu cleared the account and received 1% cash discount.

(d) Goods withdrew for personal use: cost price Rs. 5,000, selling price Rs. 5,500

(e) Goods stolen: cost price Rs. 10,000, selling price Rs. 11,000

(f) Goods sold for cash to a customer for Rs. 20,000 and collected 7% sales tax on it.

(g) Paid Rs. 20,000 for proprietor’s medical expenses, Rs.2,000 for his son’s college fees and Rs.10,000 for
office rent.

(h) Sold goods costing Rs.6,000 to Shakuntala issued invoice 10% above cost and allowed 5% trade discount.

(1) Credit note issued to Rohan for Rs.500 for goods damaged in transit.

(j) Returned goods for Rs.7,000 to Hariharan and received his credit note.

Or (3rer@)
QU IETERYN §RT G, ARl R A @I & I8 &1 ARAT BT |

Explain the rules of Personal, Real and Nominal Accounts with suitable examples.




(b)
frtfafi 392 & oF o @ 9@ 16s 48 FEY
From the following transactions, prepare a three column Cash Book :
2016

g (Mar) 1 %% 979 (Balance in hand)
4% 99 (Balance at Bank)

are (Mar.) 2 9% EW7 Faght &1 (Paid wages by cheque)

oTe (Mar) 5 % %d (Cash purchases)

qrd (Mar.) 15 Wi § 9% [9®7 (Received a cheque from Krishna)
T B2 &1 (Allowed him discount) :

o7 (Mar,) 16 =& &I & & YT a1 (Payment made by cheque to Mohan)

sa#% w2 49 (Discount allowed by him)
qre (Mar.) 18 &% 4% (Cash Sales)

g (Mar.) 20 et @iier 3T 9% & YA [0 (Furniture purchased

and paid by cheque)

ord (Mar.) 22 4% 9 =979 [Z47 (Bank credited interest)

qr (Mar.) 25§91 & % fA@T (Received a cheque from Suresh)
o8 g2 f&ar (Allowed him discount)

are (Mar.) 30 &% o 7%a w1 fSar (Cash deposited into Bank)

Unit — 2 &1 — 2)
g 2. fIrar oiu &1 g&al I AP 31 A€, 2016 BI 191 Tefue TR fHar 1=

The following Trial Balance has been prepared as on 31* March, 2016 in the books of Vijeta Shop:

X0
B (¥ Wrdl §RT FAMINST) [Purchase (adjusted by Stock A/c)] 15,000
AqoTgY! (Wages) 1,860
DRETT IY (Factory Exp.) 1,440
LT 9T (Carriage) 480
3G HOIgXl 1—4—2015 T (Outstanding Wages upto 1-4-2015)
fd%a (Sales)
qﬁﬂc_d T 1—4—2015 b (Prepaid Insurance upto 1-4-2015) 50
$dd ZEUT (Bad debts) 48
fomar wd dHT (Rent and Insurance) 620
qad (Salaries) 1,080
Sad T PIY (Bad debts Reserve)
o191 Ud &1ol (Dividend and Interest)
TGR (Debtors) 3,000
¥hY (31—3—2016) [Stock (31-3-2016)] 1,640
faf AT (Investment) 1,600
d% (Bank) 200
RSt =TSt 31—4—2016 (Accured Interest upto 31-4-2016) 24
JUFAR (Furniture) 840
AYE (Machinery) 4,000

@HER (Creditors)
goil (Capital)

00

72
24,000

200
416

1,500
5,694
31.882



/1 FRrEIe @ e W Ed gy faorar & <iftw @ IR ST

e F: fhRIAT 40 W0, I 48 0

Jdaw Y : §FT 20 %0, HOIGY! 32 %

fame 1—10—2015 BT 800 F0 BT T= SR TNl 1T RBrga forg #1E vfafie =& g5 |

T T ITH W 10% Y a9 &1 & | B S 2 |

TTERI W 4% WA F0T HIY G HIAT ¢ |

¥ # 220 w0 HT AT FIof STANT B faorr R o T g et 318 ufdfie T8 g8 |
HASR BT 10% HHIE <1 2, S VAT BHIRM & & d1& [Idblel Y g o™ IR T |
Prepare the Final A/cs and the following adjustments have to be taken into consideration:

Outstanding expenses: Rent D 40, Salaries D 48

Prepaid expenses: Insurance D 20, Wages D 32.

Machinery worth D 800 was purchased on credit on 1-10-2015 for which no entry has been made.
Write off depreciation on machinery and furniture @ 10% p.a.

Maintain the Reserve for Doubtful debts at 4% on Debtors.

Goods worth D 220 were taken for personal use by the Vijeta but no entry has been made in the books.
Provide for Manager’s commission at 10% on net profit after charging such commission.

NS oM DN =

Nk~

Or (3reran)

Feftad a1 Sa=< S1ar a1 8 ? I8 S 91 oIl 8 ?
What is a suspense account? How is it prepare?

WIS LR WS O (WETN W o W A o e 8 3479 v s e F e s e | ey
st Sif W A ol o @ P s fistt

[k B -|1"I'T T 1050 ¥ o = S O vm

] fee | 1000 F & G e Fop 1:|'|-|";r f den (ay T

(iiiy WETR A 200 T W Wy Spww S W TEE ey 8 e T T

v '_|.‘”| Wl 500 T U ST W W iEq T W :—u'r g srfeafae =y Tesmy o)

fvl 35 ¥ Ui ymE off 9= 17 & frlr md & oy W e A —r| W M

(¥} 200 ¥ FET9F & h & Frree e wilios o § 63 2 TR

iwliy 2400 ¥ B i fR e g Freed tifew e R L R

T ||;,!_I aU o IR r| A 1 angp i = TS W A

Ay pepountant whils balinerng his books of Sumis a6d Brolleifs fousd (hal 8 deroace of T 3478 in tha

irial balance. The differonos woan plocsd to susponss accmmnt whils preparag the finnl socounts. Thae following
it wird bater noticsl |

{il Purchase of B book was undereast by ¥ 1150
fi} Purchaar frim Vinod ammanting to ® 1,008 wes enisrsd in snles bonk.
[ Coods retimmed from Ashal imointiag W ¥ 200 delifis] 16 ke persinal bt
itv] Goods sold to Bureah worth * 600 which is net included in the list of debtors
{¥] T B baing the discount sllowsl by o customs whizh was Aot peted s Diseound Account
Wil Fecsived ompminsion wortl § 300 which was ot popied to Commismion fecount

vill Rt paid amoonted to # 2,400 which is nol poiled fo Heol Accoud
Draft Journal eniries neosssary lof reetlifying the atnws misinkes and prepare the suspanss meeainl.

Unit — 3 (5&TE — 3)
TolT A, ARTYR &1 FfRad @ & 3MER WR 31 |16, 2016 & (o (&) Wt SR A @@, (@)
NI WAl 18T
(@) T=T—Td 99 & T I 8Y 400% IIAM dY b T agel 8¢ 3,600 W, AN IY B T UG gl
37 600 % |
(@) TTfeqri— HAR BT fRTET 200 %, PBIST Yodb 1,200 B/, AU 8 H UT IR 2,500 % |
() JIAF— I 2,000 W, AFA 240 B, BUTE AR @ AR 600 ®, STAU 8 Bl AFEN 1,700 B,
ADIER DI AT 1,360 %, AT =IF 800 %, fHRMAT 3R PR 1,000 & |
(8) STal FI— HRHAA 160 Wb, STlUT € DI AHUT 440 B
(3) Idbe UY — 1 31U, 2015 B 360 H 3IR 31 AT 2016 DI 560 B & |

Prepare (a) Receipts and Payments Account, (b) Income and Expenditure Account of Pooja Samiti, Bhagalpur
for the year ended 31* March, 2016 on the basis of following informations:



Q4

Q5.

(a) Subscriptions: Subscription received for last year Rs. 400; Subscription received for current year Rs. 3,600;
Subscription due for the current year but not received Rs. 600

(b) Receipts: Room Rent Rs. 200; Sports Fees Rs. 1,200; Received from Refreshment Room Rs. 2,500

(c) Payments: Salaries Rs. 2,000; Repairs Rs. 240; Printing and Stationery Rs. 600; Materials for Refreshment
Room Rs. 1,700; Watchman’s Wages Rs. 1,360; Electricity Expenses Rs. 800; Rent and Taxes Rs. 1,000

(d) Outstanding Expanses: Repairs Rs. 160; Materials for Refreshment Room Rs. 440

(e) Cash Balance: On 1* April, 2015 is Rs. 360 and on 31% March, 2016 is Rs. 560

Or (3reran)

o fdaRUT & SMUR WR TS IdEd HFAl BT YT W 31—3—2014 Td 31—3—2015 dY & [l AR

BHIFRTT:

1 YT 2013 DI I WKI BT WY 28,540 FHO o7 |

1 T8 2013 B {B T TS Hod 2,160 T AT 820 & ¥ 991 3 |

IWIFd &7 &1 g IT I 4580 W0 W WRIGT o1 I I H 150 W0 HOIGY! AT 70 W0 bl AH

S |

4. 1 IR 2014 BT TP AR I 5600 WO HI WG |

5. HHE T Al W 7.5% U A Jol R I W 10% Uy SANT B UG 9 B faRad
EaGil

Prepare a Machinery Account of a company for the year ending on 31% March 2014 and 31% March 2015:

1. Balance of machinery account on 1* April, 2013 was Rs. 28540

2. On 1¥ July, 2013 some plant having the value of Rs. 2160 were sold for Rs. 820

3. Same day on a new machine is purchased at Rs. 4580. Installation wages and other charges were Rs.150
and Rs. 70 respectively.

4. On 1" Oct. 2014 they purchased new machine costing Rs. 5600

5. Company charges depreciation on new machine @ 7 2 % p.a. and old machine @ 10% p.a. by diminishing

balance method.
Unit — 4 E&1E — 4)

frRrT—f ugfa va fhe rae ugfa # danfie gfte 9 U9 of@id &l gite | <R ®I Ia1exvl Afed
e HIY |

Difference between Hire-Purchase System & Instalment Payment System from the legal as well as accounting

@ N =~

point of view, explain illustratively.
Or (3reran)

T IR A &1 FHs Hed 6,000 W0 IR BT HF T 8000 W0 B | AT A 1 AU 20141 =
P UghT W BRI a1 @ 99 T R SHBT YA IR BAE bl H RFH | URd 2000 W0 BT,
o | a7 99 gon f <1 9¥ d& 7 @ wRea ged @ SRAf | yed oiR g anf § wwia &
qIEIfdd g BHI: 150 WO d 375 WO U, IS YR To9fd I I8 Udbe gonl fb I 750 w0 BRI ForaH A
105 W0 YA q¥ & BT | fRIAT—(Iad & Dl § SHd & AaeIdH o BHIIY R ARG o= ATl
Gifery |

Cash price of a washing machine is Rs. 6000 and Hire-Purchase price is Rs. 8000. This machine is sold on Hire-
Purchase System on 1* April 2014 to the Hire-Purchase and payment is made in four six-monthly instalments of
Rs. 2000 each. It was agreed that the machine will be maintained free of charge for a period of two years. The
actual expenses of maintenance were Rs. 150 and Rs.375 for the first and second years respectively, though past
experience showed that these are Rs.750 of which Rs.105 is for the first year. Pass the necessary Journal entries

in the books of Hire-Vendor and open Maintenance Suspense Account.

Unit — 5 (5&15 — 5)
9 ATEEN] ®BH Al Bl BT 99 S € T9 B Bl gD 4 /T @ B T g ?

What accounting record is made in the books of the firm when a partnership firm is sold to a limited company.




Or (3rera)

fer, v ol Fr. o o o o are-are T s B 3l S s & o wn el g
frafa = Frerfes faam &

L ) L] ™
4 T T ¥

LI 1,180 BOO | w55 4,900 | 1,800
T A 4% T 2,000 — | BOS0 | 8400
ot —| 1500 | e i I
drie T T —| 1000 &= o =
o 9,820 | 7,280 | imRs 0 =
s i i —| 180

roTies e —d -

v 18,000 | 10,580 ¢ | 13,000 10,080

i, TSR v o 1 T T W A S w S G s i v § wwen i e
:Emaz-rwrnq'r:m;mrtr{mﬂrmﬁrmﬁumhmﬁwrim.mmﬁmi_mﬁwf
F wen ww&mﬁﬁﬂmﬁmmﬁwmﬂrﬂﬂrﬁrgﬁm#mmm:ﬁmm
T S E Lt
Mr Eﬂtﬂiﬂiﬂiﬁimm-ﬁdndﬂhm Thery agreed for amalgamation, The
fallowing is » statenent of their respective positions:

e L180| 80O |Steck az200| 1,800

Eath's Loan at 4% 2,000 — | Debtors 060 | 6490
Unlon Bank — | 1500 |Fixtures 150

ool sa2| 7980 |Cash W =

Capitals Lifs Policy Prem Paid —| 1m0

Leaseghold Premises — ‘E.Dl.'ll.'l_

v | 13,000 10,580 r (13000 10,580

Tt is ngresd thit exch partnershall bring into the T 10,000 in ensh or its equivalent bosiness bakng

carrigd anin Wells promibses, of which it is thint the lense shall be treated (5 account ns worth ¥ 3,500,

== mmﬂﬂmﬂﬂﬂﬁmelguﬁmﬁqhmwm:mﬂmmuwu

vt mil ahilition unsrin ore to disnpponr mmmm iEstmenis,
Or (3rera)

XY o 2 & w1 o Avammy e 3 ;20 1 B o 31-3-2016 %1 R fog o

X, Y and Z are three partners. Their profit sharing ratio ars 3 : 21 1. Their Balance Sheet as at 31.3.2016 was
o omder :

T T

RN (Croditors) | G000 |y Stock) S0

Z W W (£ Laan) 3000 | e (Debtors) 10000

X ] EI W (s Current Ade) 1,000 |y & WP W (Vs Current Ad) s

Z W1 =% W (T's Current Al - bon | wfE (Goodwll) ’-:ﬁ

Capitalsl | T (Furniture)

'#I}": " 1!.‘3& | THEE (Cash) 1,00
¥ 5,504 |

g 10,000 | 30,500

o & e g () 2 3 = 12.000 v # P (o) X men 6,000 ¢ F wiv o (8) 300 A
10% &H T 5a0; (2] e 3,000 v F ST gan; (o) SAT Sy 500 € (7) 0f sEeE g A e
e 0, (%) S o gh vl g &

el TR A e & g w T

Firm wns dissolved - {a) Goodwill was taken over by & for ¥ 12,000, (b} X purchased stock fur ¥ 6,000,
(c) Realisntion from Deblors wus 10% Juss; (d) Furniture was suctioned in ¢ 3,000; {s) Dissolution axpensts
were ¥ 500; (1 Partners will pay cash, if petsssary; (g} Creditors were gubd in full.

Propars Realisation Aceount and Cupital Accoarts of the partnem.
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d1. BHE. — 1
auTa® aA wuEr (Business Regulatory Frame Work)

A IGECS QUi : 75

e

U 1.

Uz 2.

U= 3.

I Ui ge & SR ST | YD Shls A TP U &A1 Ifard g | ) vl & 3fd wHH ® |

Attempt all the five question. One question from each unit is compulsory. All question carry equal
marks.

Unit — 1 &8 — 1)
IATST AT & 7 3TaY DI 9gdl R I BT FT Y9G U<l © |

What is Coercion? What are the consequences of Coercion on the validity of the contract?
Or (372ran)

ST PR B ANY UEDHRI A I’UHI FIT AR & ? J A= @fdd S € S ST & R e B &
3G TH W § ?

What do you understand by Competency to Contract? Who are the persons regard as incompetent by Law?
Unit—2 EaE — 2)
fIRdY qem erg 3 @ ofaR 8 ? ARdl @ o 91 & JMfPaRT &R daadl @1 Heg § fJa=er I |

What is the difference between Pledge and Bailment? Discuss briefly the rights and duties of Pawnee?
Or (3reran)
ffyfel ®1 3Ty vd RS B gey H R 918 | I IRRARAN #1 Ieoi@ I R v ufeny a1
IR ¥ o & ST & |
Differentiate between a contract of indemnity and a contract of guarantee. State the circumstances when a
surety is discharged by his liability.
Unit — 3 (S&1§ — 3)

e fIadr & 87 &al & Ui Al w0 9 iR A1 & Ui S9d 97 AR © ?
Who is unpaid seller? What are his rights against the buyer personally and against the goods.

Or (3reran)
o a1 27 ey srgey W fAfr= T wral @1 avie Sifsie | fea aRRefoal # ek T &1 searas A
ST HHAT § ?
What is Condition? Explain the various implied conditions in the sale of goods act. When breach of implied
condition can be treated as breach of implied warranty?

Unit — 4 (5515 — 4)

e 4. fafma Ay Jgus a1 gt T T S9G Mavdd Sevl BT g HINTY Td 39d TR AT 9arsd |

U= 5.

Define a Negotiable Instrument and describe its main characteristics and kinds of negotiable instrument.

Or (3reran)
faf o= @7 87 g ufsr u= 9o 9% 9 R yeR i R ?

What is Bill of Exchange? How does it differ from a promissory note and a cheque?

Unit — 5 &S — 5)
U ARET0T ST 1986 TIT & ? $HD YA &1 Ui HIfTT |

What is Consumer’s Protection Act 19867 Explain its provision.

Or (3rer@)
e ST 2008 & ARAT HIU | TSRl & IMfABRI Ud bddl BT Sl BT |

Explain Partnership Act 2008. What are the guidelines of company’s to formulate new company? Discuss the
rights and duties of the Partners.
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1. T /9.HM 9NT— Us

fava — ygferofig ereq@™ (Environmental Studies)

quTisp : 75

Al U BHP 1 IR 2| AP ghls I Ub YT bl IR IOy |

1.

frfeRaa @ 9 fog1 uig W Gfera fewforar fofRag | Write short notes on any five of the following:
TIBIUNI FHEA (Renewable Resources)

UTepfcreh 3T T Ueer (Disaster Management)

AYH B & y9g (Effect of Modern Agriculture)

el AT Bl YRET (Protection of Water Resources)

qATaR0T UG #1949 WReT (Environment & Human Health)

ey Sig fafderdr (Plant Diversity)

ST favIe (Population Explosion)

© N o g > N =

Resources)

s®1g 1 (Unit 1)
TITEROT B GRETT & §U YATGRYT AT D1 IgfAvad Ui Pl AHEY |

Define the environment and explain the multidisciplinary nature of environmental studies.
3reqar (Or)

STel AT B AT SUINT I S~ IHRI & folv ScReR—l BRGT BT g+ HIF |

Describe the responsible causes for the problem arising due to over utilization of water resources.
s&1s 2 (Unit 2)
qRReIfds TF ® AT Ud Sl BT gl BTy |
Describe the structure and functions of Ecosystem.
34T (Or)
frforRaa & 9 fsl a1 R fera fewforr fofRaar 1 Write short notes on any two of the following.

1. SOl & dBfeqd AT Alternative resources of energy.
2. UIRReIfAH 3rgHHT Ecological succession
3. @R Sl Ud @ $i9aTl Food web and Food chain.

4. ol YarE Energy Flow.
s®1s 3 (Unit 3)
g~ YSTIfal T 87 $9b YbRI 9T ARET0T & SUTAT BT guf= P | 10

What are endangered species? Describe their types and made of conservation.
31dr (Or)
frfaRaa & 9 fo21 1 R dAfera fewfdri forRad | Write short notes on any two of the following.
(1) ¥RA @1 HAdhera~ Yo (Endangered species of India)
(2) RA @1 I I U9 IRYY UG BT & TSI SeE Ud WIRUY &7 91 T I
(National Parks and sanctuaries in India and Name and Place of National Parks and sanctuaries in C.G )
(3) gfc wic (Hot-spot)
(4) S9—¥c Ud Ued ¥, GReTT (In-situ and Ex-situ conservation))

s®1s 4 (Unit 4)
"IITaRoT TG A Wy’ vy wR o fIfau |

Write an essay on the topic “Environment and Human Health”.

37T (Or)
frferRaa & 9 fogl &1 R Wi fewfory foriRad | Write short notes on any two of the following.
1. S UgHT (Nuclear Pollution) 2. IRIR BT HRIFH (Family welfare programme)

3. drg U@l @ UBHR (Types of Air Pollution) 4. ATd 3Tf&GR (Human Rights)

Uipice HEREl BT GReT W AMd @ Jfidi(Role of an individual in the conservation of Natural



@18 5 (Unit 5)
T WENfET @7 gAteRvT Ud A @R Bl fAdT B THesy | 10

Explain the role of Information technology in Environmental and Human Health.
grerar (Or)
forfaRad § 9 fosr a1 R wfera fewfrt forfRadr| Write short notes on any two of the following.

(1) el a8t Acid Rain ~ (2) AT Ud 9T BHedmoT Women and Child Welfare.
(3) Us¥ AIDS (4) IISig GReToT The Wildlife Protection Act.




